
https://www.pass4itsure.com/1z0-066.html
2024 Latest pass4itsure 1Z0-066 PDF and VCE dumps Download

 

 

 

1Z0-066Q&As

Oracle Database 12c: Data Guard Administrator

Pass Oracle 1Z0-066 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/1z0-066.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

Latest 1Z0-066 Dumps | 1Z0-066 PDF Dumps | 1Z0-066 Exam Questions                                1 / 4

https://www.pass4itsure.com/1z0-066.html
https://www.pass4itsure.com/1z0-066.html
https://www.pass4itsure.com/1z0-066.html


https://www.pass4itsure.com/1z0-066.html
2024 Latest pass4itsure 1Z0-066 PDF and VCE dumps Download

QUESTION 1

You must configure an Oracle Data Guard environment consisting of: 

1. A primary database 

2 Three Physical Standby Databases 

You must meet these requirements: 

A designated physical standby database should become the primary database automatically whenever the primary
database falls The chosen protection mode should provide the highest level of protection possible without violating the
other requirement Which redo transport mode and protection mode would you configure to meet these requirements? 

A. SYNC NOAFFRIM and Maximum Protection 

B. SYNC NOAFFIRM and Maximum Availability 

C. ASYNC and Maximum Performance 

D. SYNC AFFIRM and Maximum Availability 

E. SYNC AFFIRM and Maximum Protection 

Correct Answer: D 

 

QUESTION 2

Which statement is true regarding Oracle Net connectivity for a Data Guard Broker configuration? 

A. To start SQL apply on a logical standby database, a TNS entry enabling connectivity to the primary database
instance must be defined on the logical standby database host. 

B. the LOCALJJSTERNER initialization parameter must be set to the listener used to register the primary database
instance. 

C. To enable Reatime Query on a physical standby database, a TNS entry enabling connectivity to the standby
database instance must be defined on the primary database host. 

D. A TNS enabling connectivity to the primary database instance must be defined on each of the standby database
hosts. 

E. A TNS entry or entries enabling connectivity to standby database instance(s) must be defined on the primary
database host. 

Correct Answer: D 

 

QUESTION 3

Your Data Guard environment consists of these components and settings: 
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1. A primary database supporting an OLTP workload 2 A remote physical standby database 

3. 

Real-time query is enabled 

4. 

The redo transport mode is set to SYNC. 

5. 

The protection mode is set to Maximum Availability 

Which two are true regarding the DelayMins Database Property for the standby database? 

A. it can only be enabled for a configuration in Maximum Performance mode. 

B. It allows user errors on the primary to be recovered by using the physical standby database. 

C. It enables you to bypass the default network timeout interval specified for the standby redo transport destination. 

D. it can only be enabled for a configuration in Maximum Availability mode. 

E. It allows logical corruptions on the primary to be recovered by using the physical standby database. 

F. It specifies a delay before the primary ships redo to the standby destination having DelayMins set. 

Correct Answer: BF 

 

QUESTION 4

Which four statements are true regarding SQL Apply filters for a logical standby database? 

A. They can be used to skip execution of DML triggers on a table while allowing the DML to execute. 

B. They can be used to skip ALTER SYSTEM and ALTER DATABASE commands 

C. They can be used to stop SQL apply if it encounters an error. 

D. They can be used to skip all SQL statements executed on a specific pluggable database (PDB) within a standby
multitenant container database (CDB). 

E. They can only be used to skip DML statements on a table 

F. They can be used to skip ALTER TABLE commands on a specific tables 

G. They can be used to skip CREATE TABLE commands 

Correct Answer: ACFG 

 

QUESTION 5
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In which two cases is it possible to change the protection mode to maximum protection using Enterprise Manager Cloud
Control? 

A. a snapshot standby database is the only standby database in the Data Guard configuration. 

B. A logical standby database is the only standby database in the data guard configuration. 

C. A far sync instance is the only Data Guard configuration member receiving redo in synchronous mode. 

D. Flashback is not enabled for either the primary database, the standby database, or both in the Data Guard
configuration. 

E. The primary and standby databases are hosted on different operating systems. 

Correct Answer: BE 
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